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el BN (ol @
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
AHEN 2 K A A 4,127,551 4,226,588 A99,037
22 Djer B 4 AP|(RL et/ ) 3,197,206 3,103, 146 94,060
2 A 3,197,206 3,103, 146 94,060
Aetd e 222 1,713,921 1,398,326 315,595
101 2121 4| 409, 191 385,796 23,395
04 D12t 22 NSES 409,191 385,796 23,395
O824 o A& 22| 150,782
— Ol | 50,000 * 6Y * 250 75,000
—5222Y 75,000 x 69 * 2 x 12& 10,800
— =54 50,000 * 6H = 523 15,600
—2AEIZKX 50,000 * 6 * 10 x 12& 36,000
— =4 200,000 = 129 2,400
—40f B2 101,400,000 * 10.83% 10,982
OANEUE EHHI(HA) 115,584
— Ol A4 H 50,000 = 3H * 250 37,500
—5d2EZLE 75,000 * 3% * 32 x 12& 8,100
— =54 50,000 * 3Y » 52== 7,800
—2AdEI2ZX 50,000 * 9¥ = 10 * 12& 54,000
— Il =4 200,000 * 12¢ 2,400
—40) B8=2 53,400,000 * 10.83% 5,784
OXetsd stZEHH(AERA) 28,455
— 0ol 37,110 * 298 » 250 18,555
—sez2zxE 55,665 * 2% * 22 x 128 2,672
— =54 37,110 = 29 = 52 3,860
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—40f BE2 25,087,000 * 11.83% 2,968
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—2HAH| 3,000 » 2% * 222 » 8 1,056
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e als| 74,008 * 798 * 90 46,626
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— Q24| 37,110 » 498 « 22 « 9 29,392
—5222E 55,665 = 4% » 3 x 9 6,012
—F5=E 37,110 » 48 = 52 » 9F 6,680
— Il =l 200,000 * 4 800
-4l 282 42,084,000 = 11.83% 4,979
OHd= & ==22¢| 20,651
— Q24| 50,000 » 29 « 22 * 6& 13,200
—5222xE 75,000 = 2% » 2 * 6& 1,800
—F5=E 50,000 » 2% » 42 x 62 2,400
— =l 200,000 * 24 400
—2E= 17,400,000 * 11.83% 2,059
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OM=xY olHu(L8) 36,022
— Q24| 74,008 * 78 * 60 31,084
== 31,084,000 = 11.83% 3,678
—2HAH] 3,000 » 7 » 60 1,260
201 L2 Y| 52,400 45,648 6,752
01 AtR2tel 23,800 17,048 6,752
Oget=gH| 18,800
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— 2 AH| 50,000 = 100 5,000
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—2elE 8=IJtE FHIRX 22/l
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206 =l 14,000 14,000 0
01 =4l 14,000 14,000 0
Ootlz+g 4,000,000 4,000
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osgsg 1,400
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ou =l 600
—ASEN FIC IISHI(LES)
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03 S Ar2 &I 500,000 0 500,000
OHMI45] Xietd Au == 500,000,000 500,000
202 044l 1,200 1,200 0
01 2L 1,200 1,200 0
OHSEM =8t
20,000 = 48 » 54 » 3& 1,200
301 2t at 28,000 0 28,000
10 HALAHI 2 &= 28,000 0 28,000
OHAZS=M THESALL 22
,000 = 200& » 20 28,000
Olgte 29 & 451,549 588,556 137,007
101 el 24l 46,749 30, 156 16,593
04 12N 22NESE+ 46,749 30,156 16,593
OO0lgt& etfa 2 £ 46,749
— ol 37,110 = 38 » 250 27,833
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307 QI2t0| & 311,800 311,800 0
05 QIZtRAE 2 311,800 311,800 0
O0l3t& 22|ttt 311,800,000 311,800
401 AIEHIZL 20| 30,000 183,000 A 153,000
01 Al&H| 30,000 180,000 A 150,000
O0I3H& AlE RX&2] 30,000,000 30,000
Nt MEAHAE Y 22| (232 /23H0=) 861,840 1,082,540 A220,700
SHOH= & MHEHEH K& 861,840 1,082,540 A220,700
Aetd 2 EHAEYE 4= 764,500 948,200 A 183,700
201 L et2H Y| 36,500 37,300 A 800
01 AFR2t2|d] 36,500 37,300 A 800
OMZHAEEY 0ICIH 22 35,000,000 35,000
OAN2HE=E L 225 7Y 1,500,000 1,500
202 (4 Hi 3,000 3,000 0
01 2| 3,000 3,000 0
OMZEHAEIY FROIEEH 2H
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04 QIZ2HHALE = 725,000 0 725,000
OHM9E Xtets MHEHAEIY 725,000,000 725,000
Aetd MWEAHEH 29X 80,000 100,000 A 20,000
307 QI2t0l ™ 80,000 100,000 A 20,000
02 OI2tEAAMNE X 80,000 100,000 20,000
OXtete HEMH 29(2208 2 H¥)|=29
xZsh) 80,000,000 80,000
H A2 17,340 34,340 A 17,000
201 LBt HAH| 17,340 17,340 0
01 At 22|l 2,420 2,420 0
Odet=2H| 2,420
— AP AYOLAE S| 100,000 * 13 100
—EHANEIGEBAI =SS 100,000 * 23] 200
—SIEAADBE 2,000,000 2,000
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02 S32gH| 14,920 14,920 0
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—EAN =22 60,000 = 12& 720
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@ SHOHE 2 ME4EH K& (¢t &
SA-EH O (BH) - HBAY - B2 Ofl A o4 ggi HRS2
—HAIEENERE 2 100,000 * 23] 200
OAl& &I =8I 4,400
— A AMNS X224 2,000,000 2,000
—MSANESX 2 200,000 * 12& 2,400
HESAAH| (MEHA M AL ) (DIEHDIE}) 68,505 40,902 27,603
JI2 A (MHEHHI M AISE A) 68,505 40,902 27,603
JIE2&3H| 68,505 40,902 27,603
201 Et2AH| 50,305 21,550 28,755
01 AtR22t2|d| 50,305 21,550 28,755
Odet=2H| 19,205
—ZSAMNEX 2L 25,300 * 3504 Xt 8,855
—JIE AR ES 2! 1,500,000 1,500
—SA EH 72 300,000 = 1CH = 23] 600
—IZ2lH(EN) EY 200,000 * 4CH = 23] 1,600
— = A £=2| 100,000 = 1CH = 23] 200
—ZZelE 22 150,000 = 1CH = 13| 150
—ZYIEgH EH 2L
300,000 * 444 % 23| 2,400
—FAX EHFE 100,000 = 1CH = 33| 300
—ZgtEgly 23 2
30,000 * 444 % 53 * 1CH 600
—J|Et=SHI 3,000,000 3,000
P 24,100
—=58G 50,000 = 1 * 366 18,300
—AX G 50,000 * 1 = 1162 5,800
(Or=2=1:] 7,000
—AZ2tAZ2 R X 24| 7,000,000 7,000
202 (4 Hi 14,400 15,552 AN1,152
01 2| 14,400 15,552 A1,152
OJ|I2g: =8| 120,000 * 10¥ x 128 14,400
203 P2 =2&H| 3,800 3,800 0
02 HRAJMAE =R 800 800 0
OFJIERF=AY| 80,000 = 10H 800
04 EN2E LR F=EH] 3,000 3,000 0
ORNSHERFAH| 250,000 *= 12& 3,000




